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PHYSICS 11

CIRCUIT ELECTRICITY

1.

Consider the circuit element shown below.

v =¥

A

The voltage across the resistor increases from V to 2V. The resistance remains the same.
By what factor has the current changed?
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A 12.0 V power supply is connected to 4 resistors as shown.
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What is the potential difference, V, , across the 30.0 Q resistor?
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3.

An clectric motor is being supplied with 500 W of power at 120 V. The resistance of the motor is
8.0 Q. What current is being supplicd to the motor?
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A circuit junction is shown below.
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What is the current and its direction through the 5.0 Q resistor?

CURRENT DIRECTION
A. 0.32A v’ away from junction
BY 032 A v towards the junction L | &
C. 2.24 A away from junction
D. 224 A towards the junction
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A power sourcc is providing a constant voltage, V, to the circuit shown below,
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If the 8.0 Q resistor is removed from the circuit what happens to the equivalent resistance of the ks '

circuit and the current through the 7.0 Q resistor?
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In an clectric circuit, 6.25 x 10" electrons flow past onc point in 0.10 s. What is the current?
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Wlight bulbs are placed in a circuit as shown.
2 X Y

0Q{= QR?(: RZV @ @ & Braw&&. l

Z
’ ‘}\) = R,{# ‘Ey @ < bra.uoCL L

braamgly 1

+ R

) . L |t
brangl 2 > R? Tz Qémwd 1 |’
— lwt R nrore ’_J P braweh 2

Which of the following is correct?

A. The voltage and current are the same for all three bulbs.
B. The current in light bulb Z is less than the current in light bulb X.
BGW The current in light bulb Z is greater than the current in light bulb Y.
D. The voltage across light bulb Z is less than the voltage across light bulb X.

What current would be drawn from the power supply in the circuit shown below?
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A student needs to connect a volimeter to measure the potential difference across the parailel
resistors in the circuit shown below.
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Across which two connection points should the student connect the voltmeter?

A. UandZ ¥ :
B. XandY

QX and W
D. WandZ X

10.

What is the current / through the 10.0  resistor in the circuit shown below?
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. What power is dissipated by the 15 Q resistor in the circuit shown? ) ’_P__ V I
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What is the terminal voltage of the battery in the circuit shown"go 3
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